DN57------A

KREISSZGE

E9523.tif




KREISSZGE

DN57------A

Item Qty Part Description Variants

1 1 369454-04 ANKER HKS,

2 1 373007-50 FELD 230V FR ONLY
2 1 373007-50 FELD 230V ALL MKTS
2 1 373007-50 FELD 230V FR ONLY
2 1 373007-50 FELD 230V ALL MKTS
3 1 877502 GEHAEUSE DN57

4 2 878277 LITZE,280AEH/FST PVC

6 1 919686 SCHUH P3601

8 1 919551 SCHUTZ DN57 D1

9 1 915848 MUTTER,FLUEGEL M5

10 1 918866 LUEFTER DN800/810

11 1 911029 SCHRAUBE,SCHLOSS 5X16

12 1 871903 GEHAEUSE BL DN59/D38

13 1 325237-00 ENDKAPPE BD59,P3601,P3703

15 1 916982 GRIFF,LINKS P3703-P3601 YA2-YA3

16 1 916128 LUFTFUEHRUNG,M65

17 1 876289 SPALTKEIL DN57 D1

18 1 913745 DECKEL,HANDKREISS.

19 1 912748 FEDER,DREH 1.5

20 1 913718 ANSCHLAGHALTER DN57

22 1 872696 FLANSCH,HKS ALL MKTS

22 1 918190 FLANSCH DN227/56/57 FR ONLY
23 2 878750 KOHLEHALTER M.LITZE GA100,DN59

24 2 914633 KOHLEB, 6X8

25 1 330003-19 LAGER,KUGEL071906DI2 ALL MKTS

25 1 330003-31 LAGER,KUGEL071906DE2 FR ONLY

26 1 913784 RING,SPRENG

27 1 910335 KABEL 2M PVC OR FR ONLY
28 1 916969 KABELTUELLE, 7.0

29 1 910556 ZUGENTLAST.SCHELLE,

30 1 321997 SCHALTER,EIN/AUS K+B FR ONLY

30 1 911726 SCHALTER OR/SW HKS ALL MKTS

31 1 322406 CONDENSATOR FR ONLY
31 1 910282 KONDENSATOR ALL MKTS
35 1 321561 MASSANSCHLAG,LACK.SW

39 1 911278 SCHRAUBE M.SCHEIBE M6X35

40 1 911278 SCHRAUBE M.SCHEIBE M6X35

41 1 914079 MUTTER,4KT M6 DIN562

42 1 911256 SCHRAUBE (VORL.) FR ONLY
42 1 911276 SCHR, AM4X9 DIN7985 ALL MKTS

43 1 330016-01 SCHEIBE, 4.3 ISO7089

44 4 911026 SCHR, M3X7 SCHALT. ALL MKTS

44 1 913167 SCHRAUBE M3X6 FR ONLY
45 2 911102 FLUEG.MUTTER DN57 D1

49 2 894748 SCHRAUBE 4,2X12

50 2 917102 SCHEIBE, INNEN 4KT

51 3 911060 SCHR, 4.2X16 DIN7981

52 2 911059 SCHRAUBE 4,2X9,5

53 5 725198 SCHRAUBE M4X10 LK-KS

54 1 911233 SCHR, M5X25 DIN7985

55 1 322319 MUTTER,6KT M5 DIN934

57 1 11365 SCHRAUBE

58 2 916231 SCHR, B3.5X64DIN7981

59 1 915033 SPRENGRING DN57

66 1 322929 SCHLUESSEL,IMBUSS 5MM,MSU

67 1 330004-07 LAGER,NADEL101412DI1

68 1 913063 LAGER,GLEIT 061008

69 1 876290 DECKEL,GETR. BEARB.

70 1 919285 SPINDELGETRIEBE DN57




KREISSZGE

DN57------A

71 1 877331 RING DN57

72 1 915541 LAGER,KUGEL 12.7 DI2

73 1 911897 RING,DAEMM

74 1 911304 SCHRAUBE DN56- DN59

75 1 917100 EINLEGETEIL,HKS ALL MKTS
75 1 917101 EINLEGETEIL,HKS FR ONLY
76 1 913719 GUMMI,ANSCHLAG

77 1 913720 NIET,B5 DIN7338

79 1 916935 GRIFF,STOPFEN DN56

80 1 916983 DECKEL,GRIFF RECHTS P3703YA3




